Paper 2:  Describe 
Describe the location of Business Parks in the UK.
1.  
2.   
3.   
4.    
5. 
Describe the harmful effects that industry can have on the physical environment
1. 
2.   
3.   
4.     
5.  

Describe the recent port developments in Liverpool
1. 
2.   
3.   
4.     
5. 

Describe the advantages of being within the EU.
1. 
2.   
3.   
4.     
5.  






















Paper 2:   Decision making – Suggest reasons 
Suggest reasons why deindustrialisation has led to inequalities within the UK (6 marks)
·  

·  

·  

· 


Suggest reasons why science and business parks provide opportunities for regional economic growth (6 marks)
· 
 
·  

·  

·  

· 





Suggest reasons how improving infrastructure in the North of the UK can reduce regional inequalities                                                                          (6 marks)
·  

·  

·  

· 






















Paper 2: Explain 2 effects of 
Explain 2 effects of…
Rural Growth in South Cambridgeshire 
Effect 1: ___________________________________________________________________________________
Effect 2: ___________________________________________________________________________________

Explain 2 effects of…
Rural decline in the Outer Hebrides
Effect 1: ___________________________________________________________________________________
Effect 2: ___________________________________________________________________________________

Explain 2 effects of…
The North-South Divide 
Effect 1: ___________________________________________________________________________________
Effect 2: ___________________________________________________________________________________

Explain 2 effects of…
The introduction of a new rail link (HS2)



Effect 1: ___________________________________________________________________________________
Effect 2: ___________________________________________________________________________________


